Instruction Manual  <unrecco,
0O | SIB-EX Series @
[\ /']

ERTESENE RILERSEFM. AT ERERBIELRFERERHOER. WASTFM.
RESHBESERRIEER.

0 BTREBEF TR

A\ WARNING

* SIB-**EXET R R T B R B REMmRA .
* SIB-EXEEFHEALAEREZE Y. SIKSRIRIIES.
ESEERFIE IBAIEE Class TO2ER 1),
*IERERREERNRE
BHSRME. BREEES 0V,
* BHEREAE, BAERNERSE ARERTRESHEEERE. ATHLERSY AR,
* ARELABUE. MHEERIRE. FRURERRISREREERS,
* BEHEMIHE, YEREAMER.
* ERIBIHIE. ATIILIRE. BSHIRERRM.

BE TR M [ 12 T 13 [ 1 [ 15 1 16 |
BAEEEECC | 450 | 300 | 200 | 135 [ 100 | 8 |
» % 1:Group Il IR ERKEDEEARTRE

@) 2 Package IR

> EmEBF
ERH Package BRI L.

T i i

lon Bar X SIB-***EXPi R ERRE.
SIB-EX Series / Tea (MBEFIZTASIB-*EX)
©
* Connector Plug * Cable Guide * Banana Plug * Cable Guide Bolt
(For SBP-07A2) (For SBP-07A2) (For SBP-07A2) (For SBP-07A2)
SCP-EX-001 SCG-EX-001 SBP-EX-001 SCB-EX-001
/1ea /1ea /1ea M4x6L / 1ea
F (C ! -
04
* Ground Cable *H/V Pin * Flexible Shield
SGC-MT-4-003 (For SBP-08A3, SBP-08A1EX) (For SBP-08A3, SBP-08A1EX)
10m /@6-@4[mm] / 1ea SHP-BM-001 SFS-EX-001
1~2ea Max.10m/ 1ea
> iE&NEYER Option

BEANERERZINR T RS INE IR S B THIEE.

* Flexible Hose

mmmmm Mﬂ[ﬂmmﬂ]m (For SBP-08A3, SBP-08A1EX, SBP-07A2)
SFH-EX-001

Max.10m / Tea

BRI BT

» lon Bar (SIB-EX Series) Side Bracket @

TEREIRFTEER R0 Bracket,
(BReE—i2fER)

FYHI B L3
EREFEOTI 1.

H/V Cable Connector @---
Controllerfi§ lon Bar
14 PorthOiHF.

: Ground Bolt @
FIEREREEEE, WREBESDL
(MEEHORIMEA 20mm) Ground Bolt53 i &k it

O ZELREER
> REHEINEE
* BERERIVEE. RESHIRT ENAERSHR.
* AT RERTNERGERER LNERERIER.
* BEIERAOR R
AR EOEBRERE.

» lon BarRERi&
RERTEZANGRRS T R R E NSRS AR IR IR AR .
BT EESE THINSIE,

* FELRHHE YRS FE.

A\ WARNING
* RTRRERYE. ARRERRER.

> BERAE
EFIERERN B E E R LR g,
SREFRIRSERE 50 ~ 200mmIER LA FEEREEERAIMENGE. SR EERINRE.
PRl R R RRINE RS,
VA F RO AL R R F REDR. BERIBMRIBBAEREINRE.

* SR EHRYIERE20mmILT.
WHESIRR R TN ERE. B8, KK,

* R ERREIER.

* BTRLESSE CableRyiSiR, SRABAMSERMAE,

A WARNNG | * Bt AT ERNEIFERLTES,

* BT RN AR A AR RE.

* BRI ETHER, EENHRREE.

* RTERERARERE. BREEEFANESE.

* RS BRI R TR,

HRNRERE

AERER{EA M5 or M6 BoltsREIE MR El RN B EAE i R s A RE.
ERED, 55 RESERERIF.

| il i il 1 |H

Min 50mm ~ :

4 M5 or M6 M5 or M6 i3
EE. we I Max200mm Mo £

wuwol Ui
wuwol N

=

03

MAE ERRF IR ER
BRRBTEZENTY, BFEUFIRERREED 400mmil EHREREE.
ﬁ | \- | |
‘ Min 400mm ‘ ‘ Min 400mm

< 1 f

< =

Jl

A
A4

BFELTRER
RERETEZRNTYS. BEETEZEES 100mmbl FHRIIRRE.

= —

Min 100mm
> EgSwEE 0000
H/V Cable Power Controller
— = Connector

=l © s

! Terminal
L

Ground Cable S —— N

* EUARAYRSRESUVUBSLE H/V CablefiE,
@ CAUTION |  H/V Cableft BB R S BHERSIE,
* H/V CableiBEfIIHIRBHMREEIR Off, MRFZEBET.

BJLAERE Power Controller
SIB-EX SeriesEJLARI#N T Power Controllera] L&,

* Power Controller * Power Controller * Power Controller

SBP-08A1EX SBP-08A3 SBP-07A2
(Exd IIB T6)

X BEEEREHNNREEASAIERERERNERS. AERNEAERRAME.

* IR TIEER ControllerZ/hREiEiE, EREHNERE.
0 CAUTION | 7ERREERESIB-EX Seriesh, HBISERLEMMASBP-07A2,
RRBVARRENRES

» H/V Cable Length

SBP-08A1EX SBP-08A3 SBP-07A2
10m(1EA) 10m(1EA)
Cable Length 10m
5m(2EA) 5m(2EA)
Flexible Shield ¢} o x
Connector M—e— M—{e—




04

» & Ground
I M4 Ground Boltigf T,
Power ControllerithEifgi i 78R SIB-EX Series Bar RiEithigacidzi&iEit,
BR. BRI R A,

Hexagonal Nut

1SO 4032
Material : Stainless Steel Fixable Object
4
\\gf\
) L Ground Cable Ground Cable
Min 4mm? Min 4mm?
Sem’s Bolt(M4) ~ Ground Contact Area  Sem'’s Bolt(M4) — Ground Contact Area

JISB 1256 Min 4mm? JISB 1256 Min 4mm?
Material : Stainless Steel Material : Stainless Steel

X BINSIBEY Side BrackettB AT LA,
» &% H/V Cable

* ERERESWHERELRE,
* BEHHRRIS RS G E e & SRR,
* H/V Cable2A NS E4457% Cable, FHEIEEIER Cablefs,
* H/V CableHHRESTE CableBEEEBBREFILER
H/V CablefRiR{EREENRI Signalif—i2HER,
FECHEERITE 200mmAIEEERTHES.

© caution

> H/V CableREFZ (EEIEHIRELR])
BESHRER 10m, EREETELENER FE— P EIEES.
CEANIREER, SRAEERE. WARRSEEE. )

Power Controller (SBP-08A3, SBP-08A1EX)
a b
1 Wi

BES (a) KREAENEERRERE,
ERFIEREE (a) B2 17mm, T4 (b) K S5mm,

(2] mmmm:fﬁ‘

- (b) BABEEZRAEESEEES.

Power Controller (SBP-07A2)

T e [

- RBERAIREN "a” Flexible Tubefll "b" SEAELRITER.
LR, ASEEEEIL 10mmRERE,

0 mummmE- e/

- FESRERNREER c — d — e B4R Connector,

- R 2mmESEBIRFH " BoltB&EA.

HIEFRE

EHEERENESERIIRREE. FERTEEEREERE. REHETRNE
PR SRS, WREEERR TR, HRRENRIHEMEIREIHE. REEs|
ERIREE, EIEHREE (—AEL—R) BR. FRIREEOEENENIRETE
BEEIHRIHETS BIRIE, FEHRIERS.

*FERRAREE, EREREY. SXEHHEIER.

@ CAUTION | MREEEAE. HEEEABERLNER.

* WREHHERRE. HOEN. MERRFERENET. THSTHIE.

05

> BN EE
« ERlESE: —B—R(168E5HEFES)
« BRI =ER IR, 160K R

> HEtHERIEF
a. ERZ A EED ControllerEiR,
b. ERERNERERERREREY, (FRIGATLAER)
{B7E CleaniRis N A(HFMERET.
c BEK, HEREBEMERSREIAG 3ES (BRI : 2,160/\5)—RIEEERAERNR
(Wiper)id NE4TE AR IR ATHEIPATR IREZ,

d. BER5TERIRI ControllerflyEB iR, g/\/
e. W RICIRRIE S TRACIRM, e
@)
1"
R g
O RRMAEE
> BIEHERIREAIER
[RE TRIARE 1REE
THEHIREE EERTREE? EEREE,
BRARE EERTERRE BT,
B RERTFERIER? BRI,
EEEER TERUERA R AR ERE? BT,
HNEIE
o
0 ) 3 M o
\ - = ) |
‘\ B 1 ‘
I 1
Number of P
No. Model No. B needes | Certification
1 SIB-100EX 160 102 3 ATEX
2 SIB-200EX 260 202 13 ATEX
3 SIB-300EX 360 302 23 ATEX
4 SIB-400EX 460 402 33 ATEX
5 SIB-500EX 560 502 43 ATEX
6 SIB-600EX 660 602 53 ATEX
7 SIB-700EX 760 702 63 ATEX
8 SIB-800EX 860 802 73 ATEX
9 SIB-900EX 960 902 83 ATEX, KGS
10 SIB-1000EX 1060 1002 923 ATEX
1 SIB-1100EX 1160 1102 103 ATEX
12 SIB-1200EX 1260 1202 113 ATEX
13 SIB-1300EX 1360 1302 123 ATEX
14 SIB-1400EX 1460 1402 133 ATEX
15 SIB-1500EX 1560 1502 143 ATEX
16 SIB-1600EX 1660 1602 153 ATEX, KGS
17 SIB-1700EX 1760 1702 163 ATEX
18 SIB-1800EX 1860 1802 173 | ATEX, KGS
19 SIB-1900EX 1960 1902 183 ATEX
20 SIB-2000EX 2060 2002 193 | ATEX KGS
21 SIB-2100EX 2160 2102 203 ATEX
22 SIB-2200EX 2260 2202 213 ATEX
23 SIB-2300EX 2360 2302 223 ATEX
24 SIB-2400EX 2460 2402 233 ATEX
25 SIB-2500EX 2560 2502 243 ATEX
26 SIB-2600EX 2660 2602 253 ATEX
27 SIB-2700EX 2760 2702 263 ATEX
28 SIB-2800EX 2860 2802 273 ATEX
29 SIB-2900EX 2960 2902 283 ATEX
30 SIB-3000EX 3060 3002 293 ATEX

06

{Top>

(=}

e ‘ 8
M=

o 1

0 & 475205
&

<{Front)
i = s
{Bottom) <Side)
o
%%@J@
30,0 720 400

O #1E

Parameter

Description / Value

lon-Generation Method

Corona discharge AC (Capacity coupled)

Applied Voltage

Max AC 7kV(+7%), 50/60Hz

Max. Current

SmA(from emitter point earth)

Main Body Aluminum, PVC, PA
Bracket SUS
Material
Electrode SUS
Cable Insulator PE, PVC

lon Bar Length

100mm ~ 3000mm (Step 100mm)

Cable Length Max. 10m (lon Bar to Controller)
Operating Distance 50 ~ 200mm (Non air pressure)
Mounting Method Ceiling, Wall
Ambient Condition 0C< Tamb <+40C

Warranty 1year
Atmospheric Pressure 80kPa ~110kPa

Certification Standard

ECEx Test Report: IEC 60079-0:2017, 7th Edition
|IECEx Test Report: IEC 60079-7:2015, 5th Edition
IECEx Test Report: IEC 60079-33:2012, 1st Edition

Type of Protection

ExebsbIAT6 Gb

AT FRBRIER. FTEEAERISAL. M= RA0I MRS,

SUNJE HI-TEK CO., LTD

www.sunstat.com

| Head Office & Factory (Busan)
8 Cheonggwang-gil, llgwang-Myeon,

Gijang-Gun, Busan, Korea

T) +82-51-720-7500  F) +82-51-720-7501

| Sales Headquarter (Osan)

795 Naesammi-dong, Osan-si, Gyeonggi-do,

Korea

T) +82-31-203-9034  F) +82-31-202-9034

Customer Center +82-70-7714-9033
Sales Contact +82-31-203-9034

] Sunje Japan Co,, Ltd.
Dai 7 Matsuya Bldg 10F 1005 2-23, Honmachibashi,
Chuo-ku, Osaka, Japan
T) +81-6-6949-5001  F) +81-6-6949-5011

| Sunje (SHANGHAI) Trading Co.,Ltd.
Block C, 4F, No.482, Hongxu Road, Minhang District,
Shanghai, China
T) +86-21-5433-9761 F) +86-21-5433-9762

| Sunje Technology Co., Ltd.
2F, No.6, Lane. 102, Sinhe Rd, Sinfong Township,
Hsinchu County, Taiwan 30472
T) +886-3-568-7891  F) +886-3-568-7950

Copyright 2021. SUNJE Hi-Tek Co., Ltd. All Rights Reserved. ‘D Hidden Champion 100

Materials-Components-Equipment



